BRINRETHZIER (EHERIHE)
/13— R(TE) ®m1a—X (1Y)
e FERERE | R —— FERERE | R
E4GHY E(ER
0% Okm 0% Okm
DOFEFEYHE 7:50 DOFEFEYHE 14:30
165 7.0km 5% 2.1km
—ENAREE 8:06 8:11 HEARSE 14:35 14:40
104 3.0km 64> 2.0km
AEHARE 8:21 8:26 ATk eden 14:46 14:51
5% 1.5km 5% 1.5km
Ak eden 8:31 8:36 AEHARE 14:56 15:01
64> 2.0km 104> 3.0km
BMENAREE 8:42 8:47 —ENREE 15:11 15:16
54> 2.1km 164> 7.0km
DREBAYHE 8:52 DREBAYHE 15:32
O% Okm 0% Okm
HEMS) HEMR)
/20— R(TE) 20— (1Y)
e FERERE | R —— FERERE | R
E4GHY E(ER
0% Okm O% Okm
DOFEFEYHE 8:00 DOFEFEYHE 14:30
44 2.2km 7% 3.0km
ERILARSE 8:04 8:09 AENRE 14:37 14:42
104 3.6km 94> 4.3km
feE2 REE 8:19 8:24 feE2 REE 14:51 14:56
94> 4.3km 104> 3.6km
AENERE 8:33 8:38 ERILAREE 15:06 15:11
74> 3.0km 44 2.2km
DREBAYHE 8:45 DREBAYHE 15:15
O% Okm 0% Okm
HEMS) HEMS)
QHE11—X(fT7E) ®HE11—X(JFY)
e FERERE | R AR —— FERERE | R
E (s EE
0% Okm 0% Okm
DOFHRYHE 7:45 DOFHRYHE 14:30
124 6.7km 84> 3.7km
SHEARSE 7:57 8:02 RN REE 14:38 14:43
144 8.3km 94> 4.6km
HRAREE 8:16 8:21 HRAREE 14:52 14:57
94> 4.6km 144> 8.3km
BN REE 8:30 8:35 SHAREE 15:11 15:16
84> 3.7km 124> 6.7km
DOFHRYHE 8:43 DOFHRYHE 15:28
O% Okm 0% Okm
HEMS) HEMS)
QH2I—R(TE) S FHE2a0—Z (JBY)
e FERERE | R —— FERERE | R
E (s EE
0% Okm 0% Okm
DOFHRYHE 7:55 DOFHRYHE 14:30
104 4.7km 104> 4.6km
FRILEAREE 8:05 8:10 PN VN 14:40 14:45
84 3.3km 54> 2.5km
A RSE 8:18 8:23 A RSE 14:50 14:55
5% 2.5km 84> 3.3km
KN REE 8:28 8:33 G UN:S 15:03 15:08
104 4.6km 1049 4.7km
DOFHRYHE 8:43 DOFHRYHE 15:18
O% Okm 0% Okm
HEMS) HEMS)

X HECKEOERI. BRESEXEDEENLDERHETLHIL,
X ARSI AREX. BRYDERE L FKEREAN11:30%5,
% BAFE2-FAKEBIL, BYDZBEHFKERMA11:30&45,




